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MAC1114 Test 3 Name l(@%

(Deborah Howard 3-16)
Show all work for credit. Use exact values only.

1. Given sinx = _?4 where 270° < x < 360° and siny = % where

90° < y < 180°, find cos(x + y). ‘
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2. Verify the identity. Show all work for credit. Work on one side of the identity
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3. Verify the identity. Show all work for credit. Work on one side of the identity

2

only.  sin?x — sin?y = cos?y — cos?x
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4. Solve algebraically for all values in radians. You must show work for credit.
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5. Solye algebraically for all values in radians. You must show work for credit.
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6. Solve algebraically for all values in radians. You must show work for credit.
2sin? (x) +sin(x) = 0
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